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QUESTION 1

You have recently been asked to take over management of your company\\'s infrastructure provisioning efforts, utilizing
Terraform v0.12 to provision and manage infrastructure resources in Oracle Cloud Infrastructure (OCI). For the past few
days the development environments have been failing to provision. Terraform returns the following error: You locate the
related code block in the Terraform config and find the following:

Error: Missing item separator

on ven peer lab.tf line 15, in resource “cci core security list” “ManagementSecurityList”:
15: tcp _options = [min = “22", max = “22"]

Expected a comma to mark the beginning of the next item.

(11) ingress security rules {

(12) protocol = b

{13) source = “0.0.0.0/0"

(14)

{15) tcp options = [min = “22%, max = “22"]
(1e) 1}

Which correction should you make to solve this issue? (Choose the best answer.)
A. Place a command at the end of line 16

B. Modify line 15 to be the following: tcp_options = {min = “22”", max = “22")

C. Modify line 15 to be the following: tcp_options { min = “22” max = “22" }

D. Replace the curly braces { } in lines 11 and 16 with square braces ‘[ ]

Correct Answer: B

QUESTION 2

The boot volume on your Oracle Linux instance has run out of space. Your application has crashed due to a lack of
swap space, forcing you to increase the size of the boot volume.

Which step should NOT be included in the process used to solve the issue? (Choose the best answer.)
A. Reattach the boot volume and restart the instance.

B. Attach the resized boot volume to a second instance as a data volume; extend the partition and grow the file system
in the resized boot volume.

C. Stop the instance and detach the boot volume.

D. Resize the boot volume by specifying a larger value than the boot volume\\'s current size.

170-1067-21 VCE Dumps | 120-1067-21 Practice Test | 120-1067-21 Study Guide 2/4


https://www.passapply.com/1z0-1067-21.html
https://www.passapply.com/1z0-1067-21.html
https://www.passapply.com/1z0-1067-21.html

VCE & PDF https://www.passapply.com/1z0-1067-21.html
2024 Latest passapply 120-1067-21 PDF and VCE dumps Download
PassApply.com

E. Create a RAID 0 configuration to extend the boot volume file system onto another block volume.

Correct Answer: B

QUESTION 3

Your company has restructured its HR departments. As part of this change, you also need to re-organize compartments
within Oracle Cloud Infrastructure (OCI) to align them to the company\\'s new organizational structure. The following
change is required:

Compartment Team_x needs to be moved under a new parent compartment, Project_B

' OCl Tenancy (root compartmen) | ocl Tenancy (root compartment)

Project_ A ‘ Project_B Project_A Project_B ‘

l — -

Team_x—’ Team_X

The tenancy has the following policies defined for compartments Project_A and Project_B: Policyl: Allow group G1 to
manage instance-family in compartment HR:Project_A Policy2: Allow group G2 to manage instance-family in
compartment HR:Project_B

Which two statements describe the impacts after the compartment Team_x is moved? (Choose two.)
A. Group G2 can nhow manage instance-families in compartment Project_B and compartment Team_X

B. Group G1 can now manage instance-families in compartment Project_A, compartment Project_B and compartment
Team_X

C. Group G1 can now manage instance-families in compartment Project_A but not in compartment Team_x
D. Group G2 can now manage instance-families in compartment Project_A but not in compartment Team_x

E. Group G2 can now manage instance-families in compartment Project_B, compartment Project_A and compartment
Team_X

Correct Answer: AC
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QUESTION 4

Your customer is running a set of compute instances inside a private subnet to manage their workloads on Oracle Cloud
Infrastructure (OCI) tenancy. You have set up auto scaling feature to provide consistent performance to their end users
during period of high demand.

Which step should be met for auto scaling to work? (Choose the best answer.)

A. OS Management Service agent (osms) must be installed on the instances.

B. Audit logs for the instances should be enabled.

C. Service gateway should be setup to allow instances to send metrics to monitoring service.

D. Monitoring for the instances should not be enabled.

Correct Answer: B

Reference: https://docs.oracle.com/en-us/iaas/Content/Compute/Tasks/autoscalinginstancepools.htm

QUESTION 5

You have been asked to update the lifecycle policy for object storage using the Oracle Cloud Infrastructure (OCI)
Command Line Interface (CLI).

Which command can successfully update the policy? (Choose the best answer.)
A. oci os object-lifecycle-policy delete —ns —bn

B. oci os object-lifecycle-policy put —ns —bn

C. oci os object-lifecycle-policy put —ns —bn — —items

D. oci os object-lifecycle-policy get —ns —bn

Correct Answer: C
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